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 qeqJAp²¾¾  
 (\¥Op^r EdXp) 
SCIENCE  

(Punjabi Version) 

: 2 : 40
Time allowed : 2 hours Maximum Marks : 40

 qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 8 \¥²y¾ h²¾ & 
 \of²¾ \§Wc qeM g§Oy h§X Yy ed qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc 
\tgqWHp Yy t̀§I \¥²y¾ E\c qdIV & 

 qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM 15 \of²¾ h²¾ & 
 qHc\p HcHy \of²¾ Yp E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, E¨Wc \tgqWHp qeM \of²¾ 

Yp n`p£H (grqcAd ²¥¾^c) kcvc qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q ¥̀R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 
geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed 
\of²¾ \§Wc ²¥¾v \mª²¾Jy AWy qBg g ỳ qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc 
²¾hs qdIVJy & 

 Please check that this question paper contains 8 printed pages. 
 Q.P. Code given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 
 Please check that this question paper contains 15 questions. 
 Please write down the serial number of the question in the 

answer-book before attempting it. 
 15 minute time has been allotted to read this question paper. The question 

paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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:

  : 

(i) 15 

(ii) 

(iii)   1 7 
2 

(iv)   8 13 

3 

(v)   14 15 -
4 

(vi)

I¥T H 

1. (a) ApHgrO²¾, AWy (b) ²¾pqBRo}O²¾ Yy AVvAp£ Yr qBdyHRop²¾-q^¥Yv g¥cM²¾p  
qI§M} & ApHgrO²¾ AWy ²¾pqBRo}O²¾ YrAp£ \c`pVv g¥qIApep£ Hc`epc 8 AWy 7 
h²¾ & 2

2. (a) Yvgcy \rqcAT (ApecW) Yy hyS¾ qdIy W§Wp£ ²¥¾v E²¾ªp£ Yy \c`pVv 
AcZqeApg Yy eZYy h}By n` ²¥¾v WcWr^ qeM qdI} : 

 F (9),  Li (3),  Be (4),  N (7) 

 W§Wp£ YrAp£ \c`pVv g¥qIApep£ ^c±HR qeM qYWrAp£ JBrAp£ h²¾ & 

 (b) qHgy W§W , O} g v̀h g¥qIAp 13 AWy \rqcAT (ApecW) g¥qIAp 3 
²¾pd g¥̂ ¥ZW h±, Yr g¥a}OHWp q²¾cZpcW Hc} AWy  Yy Hd}cpqBT Yp 
gvWc qdI} & 2

3. qd¥Jr \oOV²¾ Hc²¾ epdy Orep£ Yr g¥Wp²¾ qeM JtV gvWcp£ Yr qJVWr qHez `tm 
W~ gXp\W h} Op£Yr h± ? qeApqIAp Hc} & 2
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4. hyS¾ qYWy qMWc Yy _pJp£ A, B AWy C Yy ²¾p` qdI} & _pJ B Yp qBH H¥̀   
qdI} &  2

 

5. (a) `²¾®Ir ²¾c AWy `pYp qeM qd¥J JtV gvWc Hc`epc XY AWy XX ht¥Yy 
h²¾ & §̂My Yy qd¥J Op£ Wy ²¾c Op£ `pYp Yr gp£qIAHr g¥_pe²¾p 50% ht¥Yr 
h± & qBg W§X Yr Hpc²¾ gqhW \o}mWp Hc} & 2

Op£ 
 (b) OyHc Ags qHgy d¥^y \¡Yy (Tt) Yp qHgy }̂Vy \¡Yy (tt) ²¾pd Y}Jdp 

HcepBrBy, Wp£ F2 \rTªr qeM \op\W \¡qYAp qeM (Tt) AWy (tt) epdy 
\¡qYAp£ Yp A²¾®\pW Hr h}eyJp ? qgc³ qMWc (³d} TpqBJcp`) Yr 
ghpqBWp cphs YcgpG & 2

6. (a) (i) qHgy Hc¥R ephH Wpc Yy ²y¾my cIy OpV Wy Mt¥^Hr qYfp gvMH 
(H¥\pg) qeIy\V Ycgp£Yr h± & OyHc Wpc qe§M \oeph ht¥Yr Hc¥R 
qeM epZp HrWp OpBy, Wp£ qYfp gvMH (H¥\pg) Yy qeIy\V Wy Hr 
\o_pe \ByJp ? qBh Hr Ycgp£Yp h± ? 

(ii)  g§Oy hX Yy A¥JvSy¾ Yp q²¾a` qdI} & 2

Op£ 

 (b) E²¾ªp£ Y} HpcHp£ Yr gvMr ^VpG qO²¾ªp£ E\c Hc¥R ephH qg§Zy MpdH Yy 
Hpc²¾ qHgy q ¥̂Yv E\c \±Yp Mt¥^Hr IyWc Yr WrecWp (fHWr) q²¾c_c 
HcYr h± & Eh q²¾a` qdI} O} qBg \oHcV qeM \±Yp h}By Mt¥̂ Hr IyWc 
Yr qYfp q²¾cZpcW HcYp h± & 2

  A 

 B 
 
 
 
 
 
 

    C 
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7. (a) (i) ³gdp£ Yy IyWp£ ²¥¾v ^VpEV \qcApecVH \ô ¥Z qHE¤ ¥̀q²¾Ap Op£Yp 
h± ? 

(ii) gXdrA± (Od qeMdy) \qcApecVH \o^¥Z qeM qHqcApfrd Mpc 
HY`p£ Yr H}Br gZpc²¾ Aphpc dmr qdI} & 2

Op£ 

 (b) (i) O±e-q²¾`²¾rHcV a}J AWy AO±e-q²¾`²¾rHcV a}J qeAcX (epZv) 
\YpcXp£ Yp eI} eI q²¾\Rpcp qHE¤ HrWp OpVp MphrYp h± ?

(ii)  Hd}c}³dtGc}Hpc^²¾ hep`¥Td AWy `²¾®I OpWr E\c Hr 
qe²¾pfHpcr \o_pe \p£Yy h²¾ ? 2

I¥T I 

8. (a) T} ŷcpqB²¾c Yy W§Wp£ Yy ecJrHcV Yp ApZpc qdI} & 

(b) T} ŷcpqB²¾c Yy ecJrHcV Yr gr`p Hr gr ? 

(c) AVv gvWcp£ (i) X2O3 AWy (ii) YH2 qeMdy W§Wp£ AWy  ²¥¾v `|Tdr³ 

Yr ApecW gpcVr qeM qHg g`vh qeM cqIAp OpVp MphrYp h± ? 3

9. (a) (i) qYWy JBy a¡qJH 

   H   H 
   |    | 
 H  C  C  O  H 
   |    | 
   H   H 

 qeM (I) qeI` \c`pVv, AWy (II) ³¥Hf²¾d Jct\ Yp ²¾p` qdI} & 

(ii) ^avRy²¾ (C4H10) Yp g¥cM²¾pW`H gvWc qdI} & 

(iii) (I) gpqBHd}hyHgy²¾, AWy (II) ^y²¾kr²¾ Yy AVv Yr \vcV g¥cM²¾p 

^VpG & 

 qB²¾ªp£ Y}hp£ qeM~ qHhmp Ag¥Wqc\W h± ?  3

Op£ 
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(b) (i) qHgy a¡qJH, qOgYp AVv gvWc C3H6O h±, Yy Y} g`pAeaep£ 
(ApqBg}`cg) h²¾ &  

 (I) Y}²¾p£ g`peaep£ Yr g¥cM²¾p ^VpG & 

 (II) qB²¾ªp£ Yy ³¥Hf²¾d g`vh qdI} & 

(ii)  Hpc^²¾ Yy a¡qJH AgpZpcV cv\ qeM gXpBr qHE¤ ht¥Yy h²¾ ? 3

10. HpqBH \ogpc²¾ (\oOV²¾) qHg ²¥¾v Hqh¥Yy h²¾ ? \¡qYAp£ ²¥¾v qBg \oqHqcAp ²¾pd 
EJpV YrAp£ Y} qeZrAp£ Yy ²¾p` qdI} & HpqBH \ogpc²¾ Yy qHgy Y} dp_p£ Yr 
gvMr ^VpG & 3

11. (a) (i) hyS¾ qYWy cyIp qMWc qeM qW¥²¾ ŷd²¾-ApHpc MpdH A, B AWy C 
YcgpBy JBy h²¾ qO²¾ªp£ qeM MpdHp£ YrAp£ d¥^pBrAp£ AWy E²¾p£ Yr 
Hcpg g±Hf²¾ (A²¾®\ogX-HpR) Yy IyWc³d er qYWy JBy h²¾ &

  

 OyHc qBh qW¥²~¾ MpdH qBH} Ohy \YpcX Yy ^Vy h}V AWy RA, RB 

AWy RC qB²¾ªp£ MpdHp£ Yy Hc`epc \oqWc}Z h}V, Wp£ (I) RA / RB, 

AWy (II) RA / RC Yy `p²¾ \Wp Hc} & 

(ii) OyHc MpdH A H}\c Yp ^qVAp h}qBAp h± AWy MpdH C 
H}²¾gRy²¾R²¾ (H}\c AWy q²¾H±d Yp q`fcV) Yp ^qVAp h}qBAp h±, 
Wp£ qB²¾ªp£ qeM~ qHg Yp q^OdBr \oqWc}Z qOApYp h± AWy qHE¤ ? 3

Op£ 

 (b) (i) hyS¾ qYWr WcWr^ A²¾®gpc dJpBy JBy qW¥²¾ \oqWc}ZHp£ R1, R2 AWy 
R3 Yy Y} g¥a}O²¾p£ (I) AWy (II) Yy A AWy B Yy Ycq`Ap²¾ Wt§d 
\oqWc}Z q²¾cZpcW Hc²¾ Yy dBr gvWc qdI} : 
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(ii) OyHc g¥a}O²¾p£ (I) AWy (II) Yy Wt§d \oqWc}Z Hc`epc Rs AWy Rp 
h²¾, Wp£ hyS¾ qYWy V  I Jcp³p£ qeM~ qHg Yp ²¾p`A¥HV ghr h± ? 
Ap\Vy E¨Wc Yr \tfRr Hc} & 3

    
12. q^Od fHWr (electric power) f^Y Yr \qc_pfp qdI} & H}Br q^OdBr O¥Wc 

qOgYp \oqWc}Z R h±, V e}dRWp (\tRzf²¾) Yy q^Od gc}W Yy qgqcAp£ ²¾pd 
dJpBy OpV Wy HczR I d|Yr h± & qBg O¥Wc OtJW Yr fHWr Yy dBr \oqWc}Z R 
AWy e}dRWp V Yy \Yp£ qeM qBH \Y (Aq_qeHWr) \op\W Hc} & Eg OtJW 
(O¥Wc) Yr fHWr Hr h}eyJr qOgYp \oqWc}Z 400  h± AWy 200 V Wy \oMpd²¾ 
HcYr h± ? 3

13. hyS¾ qdqIAp£ Yy dBr Hpc²¾ qYG : 3

(a) qHgy O±e-`¥Td qeM A\_pcOHp£ Yr h~Y Ocvcr h± & 

(b) qHgy Aphpc dmr qeM FcOp Yp \oeph qBH} qYfp qeM ht¥Yp h± & 

(c) qHgy Aphpc dmr Yy Ap`W}c qgc³ qW¥²¾ Op£ Mpc \}fr gWc hr ht¥Yy h²¾ &

I¥T J 

2 14 15
3 (a), (b) (c) (a) (b) (c)

 ¾  

14. qHgy qeqYApcXr ²y¾ J}d AWy \rdy ^rOp£ epdy `Rc Yy ^vqRAp£ Yp PcmrYpc 
AWy hcy ^rOp£ epdy `Rc Yy ^vqRAp£ Yy Ycq`Ap²¾ Y}Jdp Hc²¾ HcepqBAp & 
Eg ²y¾ YyqIAp qH F1 \rmªr Yy v̂qRAp£ qeM qgc³ qBH hr \oHpc Yy ^rO \±Yp 
h}By h²¾ & OY~ F1 \rmªr Yy `Rc Yy v̂qRAp£ Yy Ycq`Ap²¾ ge±\cpJV HcpqBAp 
qJAp Wp£ F2 \rmªr Yy ^rOp£ Yy ²¾pd F1 \rmªr Yy ^rOp£ Yy \oHpc Yy ²¾pd-²¾pd 
HtP ²¾ez g¥a}O²¾/d§NVp£ Yy ^rO er \op\W h}By & 
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(a) F1 \rmªr qeM qYIpBr YyV epdy \o_per d§NVp£ Yp ecV²¾ Hc} &

(b) F2 \rmªr Yy \op\W ^rOp£ qeM g¥_per ²¾ey d§NVp£ Yy g¥a}O²¾ Hr h} gHYy  
h²¾ ? 

(c) (i) Hpc²¾ qYG qH F1 \rmªr Yy ^rOp£ qeM O} d§NV qYIpBr ²¾hs qYWy 
g²¾ Eh F2 \rmªr Yy ^rOp£ qeM Yt̂ pcp qYIpBy qHE¤ qYWy ? qBg 
\oHcV qeM F2 \rmªr qeM \op\W eI} eI \oHpc Yy ^rOp£ Yp 
A²¾®\pW qdI} & 

Op£ 
 (ii) (I) \o_per, AWy (II) A\o_per d§NVp£ W~ Hr AcX h± ¾? 

qeApqIAp Hc} & 4

15. Hp\c Yy Wpc YrAp£ Y} eI} eI Ht¥TdrAp£ qO²¾p£ qeM ³yqcAp£ Yr qJVWr Hp³r 
qkApYp, qOez qH Hc`epc 50 AWy 100 ³±cy h}V, de} & qB²¾ªp£ ²¥¾v qM§Wc qeM 
YcgpBy A²¾®gpc qHgy qeYatW c}Zr I}Idy ŷdV E\c MmªpG & Ht¥Tdr-1 ²¥¾v, 
qOg qeM ³yqcAp£ Yr g¥qIAp qOApYp h±, dmr Hc` qeM ±̂Rcr AWy \d§J 
Ht¥Or ²¾pd O}m} & Yvgcr Ht¥Tdr-2 ²¥¾v er qHgy J±dey²}¾`rRc ²¾pd O}m} & 

 

(a) ecV²¾ Hc} qH J±dey²}¾`rRc Yy ²¾pd Hr q²¾crIV HrWp OpeyJp, OYqH 

(i) Ht¥Or ²¥¾v ¥̂Y HrWp Op£Yp h± & 

 (ii) Ht¥Or ²¥¾v I¡qdAp Op£Yp h± & 

¥  J±dey²}¾`rRc 

¥ Ht¥Or ¥ ±̂Rcr 

Ht¥Tdr-2 Ht¥Tdr-1 
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(b) qBg \oHcV ²¾pd Otmr \qcKR²¾p Yr \qc_pfp qdI} &

(c) (i) Eg HpcV Yr qeApqIAp Hc} O} J±dey²}¾`rRc qeM qeIy\V Yy 

dBr Ot¥̀ yepc q^OdBr Hc¥R Yp HpcV YgYp h± & 

Op£ 

 (ii) H}\c Yy Wpc Yr H}Br Ht¥Tdr AB qMWc qeM YcgpBy A²¾®gpc 

qHgy J±dey²}¾`rRc ²¾pd Otmr h± & Hr q²¾crIV HrWp Op£Yp h± OY~ 

qHgy gHWrfpdr Nm Mt¥̂ H Yy EWcr Zcte ²¥¾v 

    

 (I) Ht¥Tdr Yy A¥Yc ZqHAp Op£Yp h±, AWy  

 (II) Ht¥Tdr Yy A¥Yc gqXc cqIAp Op£Yp h± ? 

 hc qBH q²¾crIV Yy dBr Hpc²¾ qdI} & 4


